
25.40, 
-:fa ~ ~ ~1 r<-oJ; (..."0 ~ to +-~ Ik ~ ~ 
~. W=-- Pl" 

~ - <Zs w] ( 3G s-~) tl~-;J (\<J:r~J <Y 42-1 

:lEi.bO· 'l4 ~ ~ ~J, ~ ~lu.L ~ ­
3l"fl ;~ ~ 70 X 10 - V = 7 X I D' \; / f't1'I-­

4% td- f ~ 

2.6, 2. 

C
~ -1~~r--4~3 

r t C f ~
 
R l!. 1=
 

-------'MM'----__ 

~ ~ ,eJM V0L. ~ Un tk,~, UJe ~ ~ th-f~oL 
~ /j~ uJ~~. 

'feE - I'l') -;- (E- 1.) 1- CE - Tty) + (E-I-r) -IR.""o 

~ (2 - T ry) ~ I R.. 

~ 47 ry- ~ ~ E - "I R 

"r:c	 4£ _ '-'R..:: rs
 
q I Lt I o. l; s
 

2~. 16". <t)	 uJid- '\i) ~(/) ~tl-t 9'G0 .-fL.~rO -SL	 Chvd. ~2Q _0.... ~~ ""'­ ~ 
--L.-. -L	 =0 ~20)( (;'?O

-t	 "-( :.. 57'2.....fL-tr~ ~~O ~LO 
g20+-E)~O 

~~ :;. R,+ ~ 
'L 

::. 372.+ '60 ~ 1332. -!l. 

b) tJJ~ ~.~~ fA ;t.i.k~~. 

V;o "1. R.~
 

'l. o Q '1 x 10 ~3 A
:,1.::. )2 

,2> J'2. 

::10 ~ ~r- o~ ~ 60 J2.. J \;0 :r X 96~ 't. bti cr Ve: 

S~ Ih tcbJv ~ '\ftl ~/:; ~ 12.V/ ~ ~ aAA~ 
~ ~ ~ u.ri-)L ,k ~ (~ ~ ~ l'lAA~); omJ.. 

r to <t2 - s. "~tt) V ~ 3. Y V
 

Manly
Text Box
Physics 114 - Solutions to Problem Set 7



(rt\ ~ ,kM,.2-()·l1. WJ4 ~ tk ~	 ~1-
p :0 v2­

J(. 
V 2- Cit 0) 2­2\(2..

I	 ::. ~ R2- ~ z: 
~ R =	 P~ 25""1	 P, /5 

~J ~~~~-

~lol ~~ ~\_--~~ 
----=;s "" 2- 5 r. (I' (7 )2. ~J 

2.. 5 -+ te 

\LI 0 t )( 2. 0 )<. 7S ;;- .~ _ =. ~ 1I 0 " \10 
7 S-?' 25 l!5-t7S) ~ )00 

z: \2. 1.JL 

26' .2S. 'tJ (J rr: -cbi'1 tk ~b:t- oJ<.., Q.l,kL "'" ~~ "" ~ tt, 
tk ~t ~ ik ~ <W=" tf..- fJAAAJ.U- JwJi.<m-1 dJ., 
<iJ=UJ;. ~ ,.J-; '~ it, ~ <vO wVI. ..f'.I<rtL r~ .i.IL
r":". '1 tk ~~~ a,~~.~-J,L 
L~ ~ wM>' RI' J'f.J; ~:r- "" ~ I() ~. Jk, 
i~ tkb ~ o..cMm R5 ~ 11.4 ~ wh.:cl.m;".. ~. 
VI L~ ~ ~th. V2- wkh tI\Kl';} ~. 
V3; V4 ~. 

b) U"4 a~'6,b, V" .r. R.. 1'uv ~ ~, 1>dL. ~ 
2~ ~~ ~ M, ~. ~ ~. ~ II; I ~(),j) (If\ ­

wLl--l ~ ;,." "I;3J 1.y. 

<!-) u«. J".,.",w If..o.1 f > r V S iM<..L ),<>t;I,:r, V ~ tk ~ 

4~1~b~'
 
J-l Jl~ ~ch 11> ~- ~-

R , ~ lA ~ ~ tktt LrY\ ~(yJ ~~ RI •
 
3 

-.L \) -\ \2. ( ~ - t 'R. ~ '" R\. + R -t- R ~ S- i /2S ) z. 18 1 .S SL( 3 4 

T ==	 Vb <to _ 2-2.. , :; o , 117 3 A
 
~'M.t - \ ~1 . S
 

~b~ R,it>O,\\7 3 A.
 

V,:: 1:- R- 1 = ~. 1\73) (\ 2.5") :: I4. b cV
 

C-.' ~ f~J
V l + V
J 

= V v3 :0 V ~
 

\J 3:: 22 - \4..66:; 7.34V
 

"3 <' I R. 5 ',I: ::c 7.3 f.j
3	 5 '12..5 



S ~rr-ru.- R. 0 =: R. Lt. I Lt ~ I.3 = 0, e S­~ 7 A . 

W~ ~bi_ ~ ~-

R~ , R,31 ~ 4 a.JU.. i.m.­ l_JTAJ1~lJv"V v~v"'Vv ~ ~ ~ .~..H./.) 'J.-(WLlfL R" 

R~ z: R\ T (It ~ t~ -t ~) -\ 

:: 12~ T ( ~ {'2..S- ) -\.. 1Gc 7 -Q.. 

I.. Ji.- ~ 2_'2_ 0-13 20 A"0­

R'NF l«. 1 

.. T = I
I~ V t ::: IIR [ • 

0.132.. X. !2S,:; I(.s-v 

l \)2- ~ Vj~ v~ JJ..,VI -T V2... ~ \j 

v'2- :: '2 2 - \ G. S- ~ b' SV 

-r ~ T r - 5·S a.o4.4 A-..l.2 .3 - It ­
\ 2 S­

2..6.2$, 

r~" 

\AWf'rf ~),I) k»J to 
- I (2) T \g - r: (.(.6) -12. ­

- 3"1 - 6.~:L =-6
 

., T ..£..- o. G2S A
z; z: 

t . (; 

~ &~ ~ ~ ~ ~. ~ ~ ~ c1Jv>f <L~ l~ 
~~ ~ ~ ~.M.F. ~ o/rc ~ft. 
IfV ktt"d . V ~ - I (2) t- I t ~ -~. 62.'>A) (2._<L) -t I~ V , lb. 7s v 
12- \J" \j :: 1 LI) T /2 l.Q. 'l-S"A) (I.fl.- ) -+ t L = I L. 6'25 Vc, 

Jk Ai.~ 1~ ~ Ik ~ io 1Ft " r- Ii.- t<P'J 



s~ - II ( 120) - I, (f2 ) - 12. ((4) a::0 

202­
S-8 = ~.II T c; ~ 1"2- -CD 

"'tt¥"1 ~ '", ~ to Nfl;- 4 
3 - J:3 ( 2. 5.) T ~2- ( b 4J- 1.3 ll' 0 J=0
 

3 ~ l:a 5 1 2> • ~ ~ I l
 

UWd :r I = I 2- + :r2J .
 
-\q,9. 

3 :c ~ 13 S- (I, - I2-) i b 4 ~1.. ~ \35 II ~ T:;l -0 

13~ 

Ud~ G)) 
d 2.0'2... 

S~ ; ~ 1..\ T 64"12­

120Jl­ 110 .n. 

~ ~4 bJ to),-{t 4 

26.32- . 

(3+\tt9 I 2J 

~ 202.. (2)+\14:[2-) 
,ss 

r' 
o~_ ~~; ~. 1-"l-...:t1.. ~ 

s- g c ft. 4 ~ ;- G- ~ 7. 7 i" G4) LL 

~ =- O. 147 A
3 b I. 1 G "I2- = S- .). S 2 

). 

'lk ~ V:n.- ~~ aftL­

\2.0-11. \. 0.24 A bLt-ll.} o.ISA 

~ 2..tl.. J 



b) 

c. ~ 

~ 

L. 

It 
bobJ­

_ 2. Lt 'f., to- , s 
,s X \0 3 .n, 

EN F , th 

-9 
t. b 'f.... \0 

= 
-uJJ.- ~ 2'-i V 

F 

o..md­ ~ay-- ~ ~ MAlrkdc i..1 l (; V. 

JI""-<L ~ 0Jj<Q)IS 

'Jk -'1' ~ tk 
V = £­ CI - e - t1~ ) 

+l:a'­

~ 
"' (2

" -16) ~ r V 

~ {'" ~to""-

\J ::c 

E 
- tiL 

e 

t 
-=E 

= 

-:­

- e 

1 ­

~ 

- t/~ 

V 0: 

E 

l ~) 

\­

~ 

£ 

.L = 
2.'-\ 

t'='­

1­ 1. := 

3 

_Z~(S) 

2 

3 

=. _2 Y ). 10 - G ~ ( ~ ) -:: 1,73 )C..lo 
-G 

5 

2,,46. 

( - tl~) 
C-S l-e 

0·70 U ~ 

~;: 
Vi­

6l. 
L 

Cl:;) 
(X'2- (0) 

z: 0, 7~ 

<:2£;'l.(1_ e­ t / z-J 2.. ~ 

~2-E~ ( \ _ 0) 'L 

i- e- tiL;:: J(;1i 

.L k Cr- ! o. IS ) 
L 

- tiL-e 

.'. t:: -

" 

L 

t, )\1 - Ja.1E) 

h. (I~JO.7~) -
2... (J I "(. 

V c =0 O. \~ 

\00 
v; -e 

o ~ I0 V 
___ d;= 

V 
0 

_t/ol" 
e I'-v 

e 
- t/R..c. 

O. 00 \ 0 

) 0 0 

-.-L = J..m.. [0, 0 0 10) 
., t:::­ _ (e.?XIO 3-n.-) (3X10~b p-) ~ (0.0010) 

~G '::: O.\~I.> 

Manly
Rectangle



1.7 N 

Iz72. 

)< 

~ A ~ A 
0.) V: V lJ B=-13 k 

-	 ~ r 1:\ A) ~F ~ ( -<t.) V v: B 0: rV 8 L- l X \( :::: - ~ VB J 
--'> ,P"\. -- Sf':....b)	 V ~ -v \() 13 - ~0: 

-	 ~ D (I' /.\., AF:: C-v V 'f.. 8 z: - ~ Y p K X l-J:: - ~ V B 1 
-. f.\.. -. ~ 

c)	 \1= -\iLl B=- B-j 

F == (-q,) [\]"'ff):: \-VB (01=-1):: yVB~ 
~ I';\. --'\ "" et)	 v" ,,~ (3 8 kJ ~ 

- - --	 ( o: ") ,(\r	 '" ~'1) V1=-8 -;: -~VB j"ck "" -1'18 L 

~ A ~ 81:\
)e.	 v =-V1/ 0=+ 1
 

F :: <; <i) V 'f.- ~ I -;: 1- vB (1'){~) ~
 0 

(~) 

2?)g. SL~ tk ~~ ~ 4~) ~ ~ F ~~ 

~ ~ ,rNbLc-~ ~~ ~ L-1~ ~. 
r , ~ f B
 

r E :: ~ V B
 

.. V c, L:: 5' . ~ X 10 '3 V/ "tYl.- 1 I~ '/ 
~	 . I 3 X \0 .....", IJ..B to s x \ 0- 3 T 

rt"r"lV \1. II 'f.. \0 -31 K~) ( }. 173)(. 10 ~ ""'/f-J)--~ 

C,.G X1CJ--1"1 c ) (7.S X \0 - 3 T ) 




